Calcule o M.D.C entre os seguintes números naturais.

PRIVATE
1. m.d.c (16, 18 20)

R = 2
2. m.d.c (15, 20, 30)

R = 5
3. m.d.c (14, 21, 28)

R = 7
4. m.d.c (14, 28, 35) 

R = 2
5. m.d.c (35, 45, 50)

R = 5
6. m.d.c (24, 30, 32)

R = 2
7. m.d.c (50, 60, 80)

R = 10
8. m.d.c (56,64,72)

R = 8
9. m.d.c (56,66,76)

R = 2
10. m.d.c (100,108,120)

R = 4
11. m.d.c (125,250,300)

R = 25
12. m.d.c (128,256,512) 

R = 128
13. m.d.c (81,243,729) 

R = 81
14. m.d.c (250,350,400) 

R = 50
15. m.d.c (24,48,96,144) 

R = 24
16. m.d.c (25,75,150,300) 

R = 25
17. m.d.c (20,40,60,80) 

R = 20
18. m.d.c (36,72,84,108) 

R = 12
19. m.d.c (18,36,48,96) 

R = 6
20. m.d.c (28,56,70,140) 

R =14
